

PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/14/2025 11:39:48 PM

			General De	etails					
Parcel ID:	755-0010-0	3660							
Document:	Abstract - 1	317767							
Document Date	e: 09/15/2017								
		Le	gal Descripti	on Details					
Plat Name:	UNORGAN	IIZED 59-21							
Sec	ction	Township	nship Range			Lot Block			
2	23	59		21		-		-	
Description:	W 1/2 OF 3	SE 1/4							
			Taxpayer D	etails					
axpayer Name	e TREICHEL	KARRIE A & WIL	LIAM C						
nd Address:	12187 CON	INERS RD							
	CHISHOLM	IMN 55719							
			Owner De	tails					
Owner Name	TREICHEL	KARRIE A							
Owner Name		WILLIAM C							
		Pay	able 2025 Ta	x Summary					
	2025 -	Vet Tax			9	61,895.00	•		
	2025								
	2025 -	Special Assessme	Il Assessments			\$85.00			
	2025	- Total Tax &	I Tax & Special Assessments \$1,980.00						
		Curren	t Tax Due (as	s of 5/13/202	5)				
	Due May 15		Due Octo	ber 15	1		Total Due		
2025 1at Lla	16 Toy 0000	00 0005 0	2025 - 2nd Half Tax \$990.00			2025 - 1st Half Tax Due \$0.0			
2025 - 1st Ha	lf Tax \$990	2025 - 2		\$990.00				\$0.00	
2025 - 1st Ha	alf Tax Paid \$990	0.00 2025 - 2nd Half Tax Paid		\$0.00		2025 - 2nd Half Tax Due		\$990.00	
2025 - 1st Half Due \$0.		0 2025 - 2nd Half Due \$990.00		90.00	2025 - Total Due		\$990.00		
			Parcel De						
Proporty Addr	12197 CON	INORS RD, CHIS		tans					
Property Address: 12187 CC School District: 701									
Fax Increment	-								
		KARRIE A & WII	LIAM C						
Property/Home			ent Details (20)25 Pavable	2026)				
Property/Home		Land	Bldg	Total EMV	Def	Land MV	Def Bldg EMV	Net Tax Capacity	
Property/Home Class Code (Legend)	Homestead Status	EMV	EMV		1	20	\$0	-	
Class Code			EMV \$165,500	\$201,000	9	60	ΦŪ		
Class Code (Legend)	Status 1 - Owner Homestead	EMV				50 50	\$0	-	



PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/14/2025 11:39:48 PM

Land Details									
Deeded Acres:	80.00								
Waterfront:	00.00								
	-								
Water Front Feet:	0.00								
Water Code & Desc:	W - DRILLED WEL	.L							
Gas Code & Desc:	-								
Sewer Code & Desc:	S - ON-SITE SANI	IARY SYSTE	M						
Lot Width:	0.00								
Lot Depth:	0.00								
The dimensions shown are not https://apps.stlouiscountymn.go	guaranteed to be sur v/webPlatslframe/frm	vey quality. Ac PlatStatPopU	ditional lot p.aspx. If t	information can be here are any quest	e found at ions, please email PropertyT	ax@stlouiscountymn.gov.			
Improvement 1 Details (RESIDENCE)									
Improvement Type	Year Built	Main Floo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
HOUSE	1982	1,144	1	1,144	AVG Quality / 572 Ft ²	SE - SPLT ENTRY			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	26	44	1,144	BASEME	INT			
CW	0	11	20	220	POST ON G	ROUND			
Bath Count	Bedroom Cour	nt	Room C	Count	Fireplace Count	HVAC			
1.5 BATHS	3 BEDROOMS	5	-		0 C	&AIR_COND, FUEL OIL			
	In	nprovemen	t 2 Deta	ils (DET GARA	(GE)				
Improvement Type	Year Built	Main Floo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
GARAGE	1980	720		720		DETACHED			
Segment	Story	Width	Length	-	Foundat				
BAS	1	24 30		720	FLOATING	-			
	·								
Incompany and Trun a	Veen Duilt	-		etails (ST 10X1	•	Chula Cada & Daga			
	Year Built	Main Floo	or Ft~	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	120	I an aith	120	- 	-			
Segment	Story	Width	Length		Foundat	-			
BAS 1 10 12 120 POST ON GROUND									
	I	mproveme	nt 4 Det	ails (FAB BY [DG)				
Improvement Type	Year Built	Main Floo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
CAR PORT	2019	240		240	-	-			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	12	20	240	POST ON G	ROUND			
Improvement 5 Details (CANAPY)									
Improvement Type	Year Built	Main Floo		Gross Area Ft ²	, Basement Finish	Style Code & Desc.			
CAR PORT	2019	240		240	-	-			
Segment	Story	Width	Length		Foundat	ion			
BAS 1		12 20		240	POST ON G				
	Ir Year Built	-		nils (FAB DRW	•	Shula Carla & Dara			
		Main Floo	or Ft -	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
	2019	96		96	-	-			
Segment	Story	Width	Length		Foundat				
BAS	1	8	12	96	POST ON GI	KOUND			





St. Louis County, Minnesota

		Improvem	ent 7 Details (I	OAF BARN)					
Improvement Type Year E		Main Flo	oor Ft ² Gross	s Area Ft ²	Basement Finish	Style	Code & Desc.		
STORAGE BUILDIN	IG 2019	21	6	216	-		-		
Segme	Segment Story		Length Area		Foundation				
BAS	1	12	12 18 2'		POST ON GROUND				
		Improve	ment 8 Details	(OPEN ST)					
Improvement Typ	e Year Built	Main Flo	oor Ft ² Gross	s Area Ft ²	Basement Finish	Style	Code & Desc.		
STORAGE BUILDIN	IG 2023	96	96						
Segme	nt Stor	y Width	Length	Area	Foundation				
BAS	0	8	12	96	POST ON GROUND				
	:	Sales Reported	to the St. Lou	is County Aud	ditor				
Sa	le Date		Purchase Price			CRV Number			
09)/2017		\$200,000			223004			
		A	ssessment His	tory					
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
	201	\$34,500	\$165,500	\$200,000	\$0	\$0	-		
2024 Payable 2025	111	\$66,800	\$0	\$66,800	\$0	\$0	-		
-	Total	\$101,300	\$165,500	\$266,800	\$0	\$0	2,383.00		
	201	\$31,700	\$164,100	\$195,800	\$0	\$0	-		
2023 Payable 2024	111	\$58,000	\$0	\$58,000	\$0	\$0	-		
,	Total	\$89,700	\$164,100	\$253,800	\$0	\$0	2,342.00		
	201	\$31,700	\$156,100	\$187,800	\$0	\$0	-		
2022 Payable 2023	111	\$58,000	\$0	\$58,000	\$0	\$0	-		
-	Total	\$89,700	\$156,100	\$245,800	\$0	\$0	2,255.00		
	201	\$31,900	\$136,800	\$168,700	\$0	\$0	-		
2021 Payable 2022	111	\$58,600	\$0	\$58,600	\$0	\$0	-		
	Total	\$90,500	\$136,800	\$227,300	\$0	\$0	2,052.00		
		ר ר	Tax Detail Hist	ory		1			
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land	Taxable Bui d MV MV		al Taxable MV		
2024	\$2,029.00	\$85.00	\$85.00 \$2,114.00		\$147,65	58	\$234,182		
2023	\$2,183.00	\$85.00	\$2,268.00	\$86,267	\$139,19	95	\$225,462		
2022	\$2,137.00	\$85.00	\$2,222.00	\$86,329	\$118,91	4	\$205,243		



PROPERTY DETAILS REPORT





Date of Report: 5/14/2025 11:39:48 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.